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| MATHEMATICS - v s
L. Write one hundred and twenty thousand and five s | -
8. Whatisthearchof the figwrébelow

symbols
AL 120005 B 125000
C. 105200 D. 120050
¢ 2. Whatisthe place value of digit 6 in 64032157
A. hundred thousands
B. ones
C. millions
D. thousands
3. Ina cuurﬂy there are 6028143 people oﬁt ofthese A. 360 cm?
"E:‘)"ﬁ&madu}ts how many r.hlldrenare there? C. ;08 cmv -
g _ ; em® D.216em?
S 9. Subtract 69 from 119 nni'.L"write YOUur answer in
C. 3188887 i 5
D. 8866399 : i 2 XL)m
4. Roundoffthe product of §93 nearest N 51 ?
and 60410 th
feni Q the 10. Whichofthe following mumbers isdivisible by 82
- A. 9266 B. 8188
= C. 36352 D. 99110
T i Simplify: Ty+8z- Ty+4z
S S A ly+4z B.4z
x C. 12z
(3 :::i 6.89 + 24,32 and write vnurau:sw:rtoune 12.  Howmany? |-: ke ks
bl _ ik kg pac tscanbepacked from 900
k P
A 312 B.31.1 fi{::fnce
£.313 D.314 C‘6?5 S
6.  Whatis the total valye of digit 2 . Sy
2it2in10.32.
13 Afi '
e 5 A.ﬂ:ght took 6780 seconds how many hours and
C. hundredths D. ’I R
A lh13min i
T l‘iﬂw !Ilﬂll}’hmﬂadsmthﬂ'c I.l'.l'LhEﬂLﬂﬂbﬂ' 143219 C2 h].Jlg = < s 53 e
i <% : min D. 6k 78 min
= & 14 Change: 0.75 as afraction into the simplest form
i ll,r B J.(
C. A B =
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15,

16.

17

19.

The area of the rectangle below is 9120cm’.

Caleulate its length

76 Cm
A 120 2 B. 102
C. 100 D. 80

How many cubes have been used to make the stack
below?

A, 36cm B. 48cm

C. 60cm D. 24cm

Aggrey spent 40% of his salarv of Shs. 18000 as
transport, how much remained?

A. Shs. 10800

B. Shs. 9600

C. Shs. 11200 %

D. Shs. 7200

What is the reciprocal of 7%/,

A B.%,,

C. 3 ) 2

Waork out: ﬁ":’; +2%,

A. 8% B, N

Gyl D9

Find the perimeter of a square whose area is 676cm’
A 104cm B. 6dcm

C. 72em D.9%6cm

2L

23.

24,

25.

26.

Find the product of the LCM and GCD of
8, 20 and 24?7
A 240 B. 120
C.70 ‘ D. 380
What is the value of angle marked m
E-]
20
™

A. 60° B. 90"
C. 700 : C. 45
Work out: 3’?9 - 19,
A. 2%, B.2Y,
C 1, D. 12/,

What is the area of the shaded part in the figure
bf:low"_-’_

366m
Loem
A 1800 cm? : £ B.328 cm®
C. 1472 em? D. 600 cm?
Work out: '/, of 884 >
AL222 B. 121
. 221 D, 220
Convert: ¥/, intoa pcrcem.ﬁge
A 32% B. 24%
C. 16% . 12%

Arrange the fraction: ,, 'y, *l, ¥/, inorder from the
largest
ALY

LA LI R

S B. ¥y Yo M ¥

S T e o)

LR

= 5!“ J_;p !'.'p Il;2
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28.

31

L
!\J

There are 75 pupils in Std. 6. If three fifths are boys

how many girls are in the class?

A 45 B.25

C.30 D. 28

Calculare: 2%, = 3%/,

ATV BoAAY.
&= D. 3,

What is the next number in the sequence

25,49, 121, 169,

AL 196 B:235

C. 256 D. 289

Wakesho bought the following items: .

2kg tomatoes (@@ Shs. 55

1kg onions {@ Shs. 96

'/ kg peas @ Shs. 120 perkg

She gave the shopkeeper 1000 shillings note, how
much balance was she given?

A. Shs. 734

B.Shs. 834

C. Shs. 794

. Shs. 894

Find the value of x

Y, (15x-5)=11

A, B.1Y,

c.¥, D. 1%,

What is the sum of prime numbers between 20 and
50 .
ALT0

C. 300

Find area of the figure below:

B. 251
D.339

AW
3

5

352

Lid
)

ALY

B.9Y, m’
C. 4!, m? D3, v

Find the volume of the cuboid below

Zcm

j2cm

[Zem

A 1200cm? B. 860cm’

C.920cm’ D. 1440cm’

A lesson started at 11.40am and ended at 1.10pm.
How long did the lesson take?

A 1'%h : B.1'%h

C. 1'%k D.1*%h

Work out: Kg g
40 320
X 5

A.200kg 1600g

B.210kg 600g

C.210kg 160g

D.201kg 600g

Name the typeof angle shoven below

%

A Reflex B. Acute
C.Obuise * D.Right
Work cuty f 441 + 127

AL 45 B 165
C. 144 . 155
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40,

41.

What is the value ofangle POR.

a
A. 100 B. 110
C. 700 D 1207
Convert ¥/_intoa dc;:imal.
A.94 B. 475
C. 0.094 D.0.94

Find the circumference of the circle below.

A ddem B.28m

C. 88cm D. 176cm

Inamap lem represents Skm; how many centimetres
will represent 120km

AL 600 B.24

C. 30 D.15
Convert: 0.375 into percentage

AL 5T75% B.3.75%
C.37.5% B 37%
Find. m iy

A1, B33
€31, D. 3%,

46.  Which ofthe fa] lowing statements is false abour an

47.

48,

isosceles triangle :
A. two sides are equal
B.two angles are equal
C. angles 2dd upto 180°
D. hasaright angje

Work out: 0.08 x 0.4
A.B.032 B.0.32
LS5t v, D.0.0032

A plot of land measures 240 metres by 50 metres,
Findits area in Ares

Alz00 B.12
C. 124 D12
The graph below shows then@erng text books
in 2 class
20 &= =
ey F
= |t 5 = B
a .'I -
2 e
L =5t
‘ﬂ 2 E T el e
i = e -$:= "-.'"‘: L
-I-nf-\ L"LT.: = : EJE:; 2 i -';
za 0 4= iﬁ i
e Q
i - — o q ',.
W ;5 X 9 A9
Sul?jut&

449,

50.

How mﬂn_v text books are there altopether?

AL 60 B.58

C.64 : D. 88

If one Maths text books cdsfs Shs. 670 how much
are maths textbooks woth?

A_Shs. 13400 B. 8hs. 6700

C. Shs. 12000 D. Shs. 1680
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